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| Semester B.C.H.N./B.C.L.S./B.Com./B.C.T.T. Examination, December 2018
=y (CBCS Scheme) '
2 LANGUAGE SANSKRIT -1
| Yakshaprashna Sangraha, Grammar and Comprehension

Time : 3 Hours : Max. Marks : 70

Instructions : 1) Answer in Sanskrit/Kannada/English.
2) Answer Q. I, V & Q. VI in Sanskrit only.

| w3 foa | (10x1=10)
pstelosdnin m@d&ﬁ;’;& 302 LWBC0.
Select the correct answer.

1) HRYRA =id yaifor af< ?

a7) aed | 3) WEw 3) ITTrEY 3) femrfa
2) ‘TeTIY: TR e gaifor gdd ?

37) arrfeudfon 3T) Eue Uy 3) woigdfo; 3) Terrendfor
3) st i A fohy 7 :

3) gehlet: 3) G 3) IAH: 3) g&eL:
4) yfufde= g w1 =: wiiedaar ?

37) T 3) =1 3) IN: 3) FOC
5) & R wafd ?

1) quE 1) TETERH 3) g 3) g
6) i e b ? |

3) W 1) Wil %) T 3) Wi

- 7) o ufved: 3 ? -
A) gdw: 1) Wi T) HU3: 3) fagm
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13105 o

8) %15 &: uiehifar ?
H) R 3) TuHafdeEy

9) SaFd: U F: 7
3H) 9 1) g

10) BdY 9Iqy Jfafeek: = shfagfresfy ?
H) HEQE 1) THeH

. g3 T3 3 fored |
QT @&gﬁ@ﬁ trug@:n.
Answer any two questions.
1) WETSTREET 10T 9ol |
BOTLRT3T %a@mocb:dgt 2320,

R A

3) |Ha=adl 3) ety
3) Wi 3) HS:

3) g %) I

(2x10=20)

Describe the greatness of Mahabharatha.

2) FErvTRAl el fored |
0303, T TFHORT Rort o WECWO.

Summerise the story of Yaksha prashna.

3) gergfafe: gy Ter foreq |

cﬁaﬁ\aﬁo@g odw@&%dd @,‘@i@ﬁdﬁ@@{ RO &R LBV,
Write about the questions and answers ensured between Yaksha and

Yudhisthira.

lIl. ATUTT YA 3TTaTE el fogu |

TR mmssmsg( 9000 N0

Translate and explain any three slokas.

) T gyl Gdliytgiﬂl%qlﬁildd A |

Wwﬁ I

2) AN yrEvRshed ug Serfea st |
S GRHECR DR GDE R

(3)(4:1 2)




< R =

~3) W1 a1d |red e 7 qeuirs: |
T g i ad; e s = |

4) SRnfecagEfe SareeTay=T: |
UHYETR Tl T 9 9 whifiseh ||

5) AT T o fie: garger: |
W 9% T e | gEesie )

V. TRz weef fagup |
DT mi:gmﬂa'i;{ ROTITREE SO

Explain with reference to context any two sentences.

1) =1 gem & v cafy o Ak |
2) phedll Hawl w1 fhsieamun T |
3) T 7Y YaqavT qETS: |
4) st TS % I §fgaH |
V. HEH WYl 3 o |
) w2 fors - ol -a=mfy fomag |
1) T '
2) AT
3) !
4) 3TeH
5) S
6) Hfe:
' 7) 9
8) i
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(2x4=8)

(5)(1 =5)




13105 4- AR A 0

1) 9T ARR-JEY - e fored | _(5x1=5)

VI. 20 uf=aq afdcan geammg Inafn foreq | (5%2=10)

T WHASYTET fesaat e | o1 fRureEme ywaf | ord: uwr fwadt i sfemr |
a7 3fd FROT: ‘Teel Seaft ATey | T TSl IIeTq Seus $edd;  fosoyaal
gﬁmlwwﬂwwwmgﬁmmmm 379E | gE=
TR S[CIRTA, UTATeTelieRy JfareTq | e qesie: gfay sre=ed |

TRAT:
1) IR Ylesayr 9a1 &1 ¢

2) TIHT FHEHT I 7
3) T Y WEH AT 7
4) TETIT: 3R A1 foR ?

5) TTHT hVA: WRAH 3T 7




